
S.S. Jain Subodh P.G. College, Jaipur 

B.Com IV Semester (BACK) 

 Income Tax Law & Practice   

Assignment March 2025 
 

Instructions to Students: Assignment consist of 6 questions Students are required to attempt 3 

Questions (1 from each Unit) Write questions in atleast 500 Words with good presentation 

छात्रों के लिए लिरे्दशः  असाइिमेंट में 6 प्रश्न हैं। छात्रों कर 3 प्रश्नरों का उत्तर रे्दिा आवश्यक है (प्रते्यक इकाई से । प्रश्न)। प्रते्यक उत्तर में 

कम से कम 500 शब्द हरिे चालहए और इसे अच्छी प्रसु्तलि के साथ लिखें। 

                                                   

                                                              Section-A (इकाई- A)                                                           4*1 

Q1. Enumerate any 10 incomes which are exempt from income tax and do not form part of GTI  

ऐसी करई 10 आयरों का उले्लख कीलिए िर आयकर से मुक्त हैं िथा सकि कुि आय में सम्मिलिि िही ों की िािी 

हैं। 
OR 

Q.2 Rahim furnishes the following particulars of his income for the previous year 2023-24. 

रहीम िे गि वर्ष 2022-23 के लिये अपिे आय का लिम्न लववरण प्रसु्ति लकया है- 
1. Income from let out house A                                                        10,000 

2. Loss from let out house B                                                            2 40000 

3. Profit from cloth business                                                            300000 

4. Loss from sugar business                                                               30000 

5. Profit from share speculation business                                       50000 

6. Loss from silver speculation business                                          80000 

8. Short term Capital loss on sale of shares                                     24000 

9. Long term Capital gain on sale of Jewellery                                48000 

10. Income from horse race in Jaipur (gross)                                25000 

11. Income from card games                                                             8000 

12. Winnings from lotteries (gross)                                                  50000 

13. Loss from horse race in Delhi                                                     18000 

Compute the gross total income of Rahim in old tax regime for the assessment year 2024-25. 

समीक्षात्मक वर्ष 2024-25 के लिए पुरािे कर व्यवस्था में रहीम की सकि कुि आय की गणिा करें।" 
 

                                                Section-B (इकाई- B)                                                      3*1 

 

Q. 3  What do you understand by partition of HUF? How is the assessment made on such family 

after partition? 

लहोंरू्द अलवभालिि पररवार के लवभािि से आप क्या समझिे हैं? लवभािि के बार्द ऐसे पररवार का 

मूल्ाोंकि कैसे लकया िािा है? 

OR 

 

 Q .4  From the following particulars of Shri Ram for the assessment year 2024-25, you are required 

to find out his taxable income and net tax liability under both the regimes of taxation: 
श्री राम के लिम्नलिम्मखि लववरणरों के आधार पर, आकिि वर्ष 2024-25 के लिए, आपकर उिकी कर यरग्य आय 

और र्दरिरों कर व्यवस्थाओों के अोंिगषि शुद्ध कर रे्दिर्दारी की गणिा करिी है। 
1. Net Salary received                                                                                                         7,07,300 

2. Tax deducted by the employer from salary                                                                   92,700 

3. Gross receipts from cultivation and processing of tea                                                 85,000 

4. Expenses of tea business                                                                                                   10,000                                                                                                  



5. Deposited in Tea, Coffee & Rubber Development A/c in previous year                   15,000 

6. Interest received on fixed deposit with Firm                                                                 45,000 

 

                                                                 Section-C (इकाई- C)                                                         3*1 

Q.5    What do you understand by "Pay as you earn scheme"? State clearly the important provisions 

of Income Tax Act regarding it. 

िैसे कमाओ वैसे चुकाओ यरििा" से आप क्या समझिे हैं? इस सम्बन्ध में आयकर अलधलियम के महत्त्वपूणष 

प्रावधािरों की स्पष्ट व्याख्या कीलिए। 
 

OR 

Q. 6   What do you mean by collection of tax at source? Explain the provisions of the Income Tax 
Act about it. 
 उद्गम स्थाि पर कर के सोंग्रह से आप क्या समझिे हैं? इस सम्बन्ध में आयकर अलधलियम के प्रावधािरों कर स्पष्ट 

कररए। 
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ABST - II 

Methods and Techniques of Costing 

Assignment March, 2025 

Max. Marks: 10 
Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 2 

Questions. Write answers in atleast 500 words with good presentation 

छात्रों के लिए निरे्दश: असाइनमेंट में 6 प्रश्न हैं। छात्रों को 2 प्रश्न के उत्तर देना आवश्यक है। अच्छी प्रस्तुतत के साथ 
कम स ेकम 500 शब्दों में उत्तर लऱखें। 

Section A ([k.M v) 

Q.1 What do you understand by Process Costing? Explain Normal Wastage, Abnormal Wastage and 

Abnormal Gain and state how they should be shown with in process cost accounting. 

प्रक्रिया ऱागत ऱेखाांकन स ेआऩ क्या समझत ेहैं? सामान्य अऩव्यय, असामान्य अऩव्यय और असामान्य 
ऱाभ की व्याख्या करें और बताएां क्रक प्रक्रिया ऱागत ऱेखाांकन में इनको कैस ेददखाया जाना चादहए। 

 

4 

   

Q.2 Prabhat Transport Company supplies the following details in respect of a truck of 10-tonne 

capacity:  

प्रभात ट्ाांसऩोटट कम्ऩनी द्वारा एक 10 टन ऺमता वाऱे ट्क के सांबांध में तनम्नलऱखखत वववरण प्रस्तुत है: 

Cost of truck. 

Diesel, oil, grease  

Repairs and maintenance  

Driver's wages  

Cleaner's wages  

Insurance  

Road tax etc.  

General Supervision charges 

Rs. 18,00,000, estimated life 10 years. 

Rs. 300 per trip each way.  

Rs. 10,000 per month. 

Rs. 10,000 per month  

Rs. 5,000 per month.  

Rs. 96,000 per year.  

Rs. 48,000 per year.  

Rs. 96,000 per year. 

The truck carries goods to and from the city covering a distance of 50 kms. each way. On outward 

trip freight is available to the extent of full capacity and on return trip 20% of capacity. Truck run 

on average 25 days in a month. Work out (i) operating cost per tonne-km., and (ii) rate per tonne 

per trip that the company should charge if a profit of 33 1/3 % on freight is to be earned. 

ट्क द्वारा 50 क्रकऱोमीटर की दरूी तय करके शहर स ेसामान ऱेकर आता-जाता है। माऱ ऱे जान ेऩर ऩूणट ऺमता का 
क्रकराया प्राप्त होता है, जबक्रक वाऩसी ऩर 20% ऺमता का ही क्रकराया लमऱता है। ट्क महीन ेमें औसतन 25 ददन 

चऱता हैं। ऻात कीजजए: (i) प्रतत टन क्रकऱोमीटर ऩररचाऱन ऱागत, और (ii) प्रतत टन की प्रतत दट्ऩ दर जजस ऩर 
कां ऩनी क्रकराये की रालश ऩर 33 1/3% का ऱाभ अजजटत करती है। 
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Section B ([k.M c) 

Q.3 Write short notes on the following: 

तनम्नलऱखखत ऩर सांक्षऺप्त दटऩण्णी लऱखखए: 

a) Cash Budget (रोकड़ बजट) 
b) Material Purchase Budget (सामग्री िय बजट) 
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Q.4 The following particulars relate to contract carried during the year ended on 31
st
 March, 2024: 

तनम्नलऱखखत वववरण 31 माचट, 2024 को समाप्त वषट के दौरान क्रकए गए ठेके स ेसांबांधधत हैं: 
Contract price 4,00,000  Administration charges 6,500 

Material 1,29,000  Direct expenditure 5,200 

Material in hand 2,800  Outstanding Wages 3,600 

Material returned 800  Value of plant at site 16,400 

Direct Labour 1,09,600  Plant installed at site 22,600 

Work certified 2,86,000  Cash received 2,60,000 

Work uncertified 6,800    

3 



You are required to prepare a contract account as on 31
st
 March, 2024. 

आऩको 31 माचट, 2024 को समाप्त वषट के लऱए एक अनुबांध खाता तैयार करना है। 
   

Section C ([k.M l)  

Q.5 Write short notes on the following: 

तनम्नलऱखखत ऩर सांक्षऺप्त दटऩण्णी लऱखखए: 

a) Break-even Point (समववच्छेद बब ांद)ु 
b) Profit Volume Ratio (ऱाभ मात्रा अनुऩात) 
c) Margin of Safety (सुरऺा सीमा) 
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Q.6 Calculate material variance from the following data: 

तनम्नलऱखखत वववरण स ेसामग्री ववचरणों की गणना कीजजए: 

Material 

Standard Actual 

Quantity 

(Kg.) 

Price 

(Rs.) 

Quantity 

(Kg.) 

Price 

(Rs.) 

A 

B 

100 

200 

20 

17 

215 

385 

18 

20 

 

Less: Loss 

300 

30 

 

 

600 

70 
 

Output 270  530  
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